ToughArmor EX ICY DOCK

1 Bay 2.5" SAS/SATA HDD/SSD Mobile Rack with Water-Resistant
Front Cover for 3.5" Bay

2222
7Z
L -

< Scan the QR code for more product information )

Copyright © ICY DOCK International. All Rights Reserved.
JK Beyond Technologies UK Ltd

Cremax Europe GmbH U
Email: support@icydock.com Email: info@beyondtech.co.uk
Weidenweg 21H, 47059 Duisburg, Germany

C n Unit B6, Halesfield 11, Telford, Shropshire, TF7 4PH, UK.

Package Contents ® Packungsinhalt ® Contenu ® Contenido del paquete
BEICDONT » BFEERA B

\ )

MB491SKL-1B User Manual Key x 2

TETY HEE
TETE EEE

6 x M3*4 Pan Head Screws 6 x M3*4 Flat Head Screws
for MB491SKL-1B for 2.5" HDD/SSD
(2 x screw for spare parts) (2 x screw for spare parts)

@ Note: Please use the included screws to secure the MB491SKL-1B & drive

Device Information ® Gerateinformationen  Informations dispositif
Informacién del dispositivo ® A {AZER o HEERER © HLiEkRR

'V Front View

1 Tough-Cover Water-Resistant Cover 2 Tough-Cover Secure Clip

1 Thumb Screw 2 2-segment Keylock

3 LED Indicator (Device Power: Solid Green ; Drive Access: Flashing Amber)

'V Rear View

1 15-Pin Power Connector 2 7-Pin SATA Connector

Installation Guide ¢ Installationsanleitung ® Guide d'Installation ® Guia
de instalacion ® BB BHAHFIBICD N T o IRIELER o 1RELE

3-1 32 —
% >
— Tt =
=
‘ | Secured ] )

Unsecured

3-4 —

£
W
|2
,

Rotate the thumb screw counterclockwise to
release the handle of the 2.5" drive tray.

3-6

This device accommodates drives
with up to 15 mm height. Please
follow the arrow direction when
insert the HDD or SSD to the tray.

Please use the included M3*4 flat
head screws only.

3-10 —

2o
T =
0
P

3-12

Rotate the thumb screw clockwise to tighten
it and secure the 2.5" drive tray in place.

Device Installation  Installation eines Gerates ® Installation du dispositif
Instalacion del dispositivo ® 5 /N 4 R BT FIE o 2T 2 4EHER
BERELR

@ Note:
Prior to installing the MB491SKL-1B, please clean the case surface thoroughly,
preferably using alcohol. This ensures the 3M adhesive adheres properly, providing

tial water resi For the most effective waterproofing, apply the 3M
dh in an envir with a temperature above 10°C. Keep in mind that peak
dh is typically achieved within 72 hours post-application.

1. Remove the protective layer from the 3M adhesive and affix the MB491SKL-1B to your
chosen external 3.5" bay location on the case.

M3*4 Pan
Head Screws

2. Insert the MB491SKL-1B into a 3.5" drive bay and use the included M3*4 pan head
screws to secure the MB491SKL-1B.

3. Connect the 15-Pin SATA power and SATA 7-Pin cables to the MB491SKL-1B to
complete installation.

@ Note:

® Please note that the water-resistant function only applies to the water-resistant
cover (Tough-Cover) of the MB491SKL-1B. The device itself does not have
water-resistant function. The main function of this design is to prevent
low-pressure water from entering the device through the water-resistant
cover. To ensure the device is properly installed, please make sure the
system chassis where the MB491SKL-1B is installed has a flat and smooth
surface around the 3.5" device bay to prevent water from entering the
device or system through uneven surfaces.

o The water-resistant feature of the MB491SKL-1B is not permanent and may
diminish over time.

® Wer 1 using a wid perature HDD/SSD with the MB491SKL-1B
to ensure the drive's ion is not affected by

p

P b

ICY DOCK reserves the right to change product specifications, components,or
accessories without prior notice. For warranty information, please visit
www.icydock.com/warranty.php




